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The ubiquitous personal computer is capable of simulating switching power
supply performance using simple programs written in BASIC interpreter
language. Performing integration by parts, the computer calculates small
changes in current and voltage in each circuit element, working its way
through the entire circuit and iterating around this loop many times in a
single switching cycle. The only mathematics required is simple algebra.
Complex equivalent circuit models are completely avoided. The actual
circuit is exercised in the computer just as it would be on the lab bench.
successful simulation depends only on how faithfully the computer version of
the circuit conforms to the actual power supply circuit.

Benefits and Limitations:

This technique provides a method of "software breadboarding" for checking
out the design of any switching power supply. Not an artificially derived
model, the computer program simulates operation of the actual circuit.
Small signal loop stability and large signal behavior are observed. The
circuit can be exercised almost effortlessly by the computer under a wide
range of conditions, including startup and overload. Using an interpreter
language permits the program to be interrupted and any values may be changed
before continuing program execution. This is useful in simulating step
changes in load current or line voltage.

This method is not intended to supplant a strong initial design effort, but
to provide a fast and accurate method to check out and optimize the design.
It provides excellent visibility into unforseen problems and facilitates a
more knowledgable approach to solving these problems much more easily than
in the lab. As a debugging tool, it is a simple matter to change the
displayed variables or add new ones, then rerun the program to more clearly
define the problem and its solution. Behavior under operating condition
extremes is easily checked out.

Neither is this method a substitute for final lab checkout, although it does
minimize the need for hardware debugging. When the computer simulation
checks out with the design expectation and the final lab tests confirm it,
there is a high probability of success.

The very act of writing the few BASIC program lines for the circuit being
evaluated provides much insight into its operation. The implied gquestion
"Do I have the circuit correctly captured in the program?" often uncovers
problems that were initially overlooked.

Oon the IBM PC, the running time for 1 cycle at the switching frequency is
typically 4 seconds. Depending on the topology and L-C filter values of the
specific application, it may take 1/2 to 5 minutes to run from startup until
equilibrium operation is reached. The running time is just about right to
permit the designer to comfortably observe its progress, noting whether it
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conforms to expectations and attempting to understand why any deviations
occur. Execution continues indefinitely until it is stopped by keyboard
interrruption (CTRL-BREAK on the PC).

The simulation program as presented makes 20 to 50 iterations per switching
period and provides an accurate representation of circuit behavior at or
below the switching frequency. It is obviously incapable of dealing with
higher frequency phenomena such as noise spikes and leakage inductance
effects, although these could conceivably be handled by smaller iteration
intervals and increased circuit/program complexity which would greatly slow
down execution time.

The continuous mode buck regulator with simple duty cycle control used
as the program example herein can serve as the basis for any other power
supply circuit by changing a few program lines.

Program Features:

A brief overview of the program listing printed at the end of this paper:

Lines 1000-1280 set up miscellaneous definitions including title strings
and a menu providing the choices of viewing the program conditions, running
the program, and directing output to the printer. Except for the title in
line 1000, these lines need not be changed for different applications.

Line 2010 defines the data column headings that are displayed at the top of
each page. Lines 2020-2060 display the initial RUNtime title and data
column headings. Lines 2080-2250 are subroutines which output the desired
data, in this case twice during each switching period -- when the power
switch turns on and when it turns off.

Lines 2260-2400 define circuit parameter variable names and initial values
in a set of READ and DATA statements. Any of these values may be changed
before running the program by editing the DATA lines. If the program is
then SAVEd, the changed values will become the initial values the next time
the program is loaded. When the menu choice is made to display operating
conditions, lines 1240 and 1250 accomplish this by LISTing lines 2260-2400.
Thus it is not necessary to duplicate variable names for displaying the
operating conditions, making it easier to change these variable names for
different applications. When it is desired to change a parameter value,
this technique facilitates the process by showing the actual lines to be
edited along with their line numbers.

Lines 2410-2500 define other initial values. Load resistance, ROUT, is
calculated from the specified output voltage/current, VO/I0. Counters and
other conditions are also set up. Note line 2490 defining resistor RD which
divides the 5 volt output down to the 2 volt reference level, VNI (see Fig.
2). RD has no effect on the loop gain. RD is defined in this way so that
it will be adjusted automatically to maintain the desired output voltage if
RIP or RIZ are changed before running the program. RD could be defined in
the parameter listings, instead.

The heart of the program is the computation section, lines 3000-3440. This
section is most uniquely related to the specific circuit, yet perhaps half
of the lines could be used without change in most applications.
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Throughout this program, frequency is expressed in MHz, time in us,
induct%nce in uwH, and capacitance in wF, in order to avoid the repeated use
of 1077, thus simplifying the equations.

The Power Switching Circuit -- Figure 1:
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The power switching circuit and filter are shown in Figure 1. Component
values are listed at the beginning of the sample run at the end of this
section. For the values given, the L-C filter resonance is at 2770 Hz,
contributing a 2-pole second order characteristic above that frequency. One
of these poles is compensated by the tantalum capacitor's ESR zero which
occurs above 21,200 Hz. The gain from the pulse width modulator control
terminal to the output of the supply at low frequencies is 8.15, or 18.2 dB.
The control to output gain is .118, or -18.5 dB at 25 kHz, which is the
intended crossover frequency (1/4 the switching frequency).

The program branches to line 3040 on the first iteration of each switching
cycle. Cycle counter CCNT is incremented, iteration interval TI is initally
set to 1/100 of the switching period, and cumulative interval TC is zeroed.
The SWITCH is set "on" and VINl, the voltage at the input of the filter, is
set equal to VIN. A forward converter or push-pull version of the buck
regulator with transformer coupling would have the identical circuit and
equations except VINlL above would be set equal to VIN/N - VD (Primary side
Vin divided by turns ratio minus rectifier drop). On successive iterations,
the program will branch to line 3130 until it is time for the switch to turn
off.

When the comparator output changes state to turn the switch off, the program
branches to line 3090, VINl is set to -VD (the circuit free-wheels through
the rectifier), and the iteration interval is made exactly 1/10 of the time
remaining to the end of the switching period. Thus there will be exactly 10
iterations during the "off" time which helps reduce the running
time. Except for initial turn on and turn off, the program jumps to line
3130 at the beginning of each iteration.

The cumulative time interval TC within the current period is updated by line
3130. Line 3140 updates the filter inductor current. The new IL value
equals the old IL plus AIL, which is VL*AT/L. The voltage across the
inductor is (VIN1-vOUT), and AT is the iteration interval, TI. VINl equals
VIN during the "on" time, and equals -VD, the freewheeling diode drop,
during the "off" time. To greatly simplify the calculation, an important
assumption is made: that vOUT, at the inductor output, is constant during
each iteration. This assumption may not be valid in an abstract theoretical
sense, but in a practical power supply it is certainly acceptable. The VOUT
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variation over the entire switching period (the output ripple voltage) is
typically only 1-2%, so it will change less than 0.1% during the iteration
interval. Any small error that occurs will not cumulatively increase, but
self-corrects during the next iteration.

The second statement in line 3140 is used when the inductor current becomes
discontinuous, i.e. the current is zero during a portion of each switching
period. This occurs whenever load current drops below the critical inductor
current level. In the actual circuit, the rectifier prevents the current
from going negative. In the program, the second part of 3140 performs the
same function.

Line 3150 computes IC from the new IL. and old VOUT values, 3160 computes the
new VC, and 3170 calculates the new VOUT value based on the new VC and new
IL values (changes in VC and VOUT are very small for each iteration).

Line 3180 finds the minimum and maximum values of VOUT which define the
peak-to-peak ripple. This may occur at any time during the switching cycle,
not necessarily at switch on and switch off. The determination is made by
looking for a change in sign of the AVOUT between the present and the
previous iteration. The subroutine at line 2180 prints these min/max VOUT
values to the right of the normal data columns, including the time within
the cycle that they occur.

The Error Amplifier/Compensation Network -- Figure 2:
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This remaining portion of the power supply using a UC3524 control IC is
shown in Figure 2. A low frequency pole provides high DC gain. Two zeros
come in at 2770 Hz to compensate the two filter resonance poles. A single
pole compensates the ESR zero keeping the overall loop gain trending ever
downward with a net single pole characteristic to well above the crossover
frequency. The gain of the error amplifier with its compensation network is
+18.5 dB at 25 kHz and above, so that the overall loop gain including the
power circuit is 0 dB at 25 kHz, the crossover frequency. The error
amplifier gain is also +18.5 dB at the 100 kHz switching frequency. This
amplifies the 0.1 volt ripple component of VOUT to 0.85 volts at the output
of the error amplifier. It is then applied to the control terminal of the
modulator and compared against the sawtooth ramp whose amplitude is 2.7
volts. 1If the amplified ripple exceeds the sawtooth amplitude (which would
happen with a higher crossover frequency), the circuit becomes unstable. 1In
this case, the loop gain has been pushed about as high as it should, and the
circuit response is excellent as shown by the demonstration run.
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The computer iterates its way through the error amplifier circuit in lines
3220-3280. A simplifying assumption is made that the circuit gain-bandwidth
envelope is determined completely by the external components, i.e. the small
signal gain-bandwidth of the error amplifier is so high it is negligible.
This is indeed what should be expected, otherwise the poles and zeros of the
compensation circuit cannot function as intended. Always compare the Bode
plot of the overall compensation circuit against the error amplifier alone
to make certain it it up to the task. So the error amplifier is assumed to
be ideal except for its large signal limitations which will be discussed
shortly.

Lines 3220 and 3230 presume the error amplifier is functioning normally, in
which case the voltage at the inverting input is essentially equal (within a
fraction of a millivolt) to the 2 V reference voltage on the non-inverting
input, VNI. Using the old values of VCI and VCF, the input and feedback
currents II and IFB are calculated, and error amplifier output voltage VCTL
(which is applied to the control terminal of the modulator) is calculated in
line 3240.

Before proceeding to update the capacitor voltages VCI and VCF, lines 3250
and 3260 check whether VCTL has violated the E/A output clamp voltages or
whether IFB has exceeded the E/A output current source or sink capability.
If so, the program jumps to the subroutines at 3350 and/or 3400. The
assumption of normal operation is abandoned, and the output is constrained
by either the voltage clamp or current limits. The error amplifier gain is
temporarily zero in this condition and the non-inverting input voltage is
not maintained equal to VNI. II and IFB are recalculated based on the
appropriate situation in lines 3360-3370 or 3410-3420. This is done so that
even during "abnormal" circuit operation the voltages on VCI and VNI will be
correctly updated. These equations for recalculating II and IFB and VCTL
were developed by algebraically combining several simpler sequential steps.
There is no need to retain any intermediate values and this speeds up
program execution. VCI and VCF are updated in 3270 and 3280 based on the
final current values.

1f the power switch is off, 3290 looks for the end of the switching period
and when it occurs, causes the data to be viewed/printed and then branches
to 3040, the beginning of the next cycle.

If the switch is on, 3300 checks the comparator input and the current limit
to determine whether to turn the switch off. If so, data is viewed/printed
and the program branches to 3090, the beginning of the "off" period. If the
switch is on and the end of the "on" period has not yet been reached, 3310
makes an estimate on how close it is to turn-off and adjusts the iteration
interval accordingly. The interval needs to be small as the end of the "on"
time approaches in order to terminate the "on" time with adequate precision.
If the program always used this small increment it would run very slowly.
So line 3310 speeds up execution time considerably.
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Techniques to Improve Speed_and Accuracy:

In execution time of the BASIC interpreter program in this application
depends, in order of importance, on:

1. Each variable must be looked up each time it is encountered (even in
the same equation) in the variables table maintained by BASIC. The
look-up time depends on how many variables are in the entire program,
which determines the length of the table. It is worth the effort to
minimize the number of variables encountered in the iteration loops.

2. Of next importance is the time BASIC spends interpreting each
statement. This can be minimized by combining statements algebraicly,
omitting intermediate variables. It is only necessary to update and
save (as a named variable) capacitor voltages, inductor currents, and
those values which may be viewed/printed as data. All other values can
be eliminated if possible by combining equations. This also minimizes
variable look-up time as above.

3. Computation time is the least important in this application because the
calculations are so simple: +,-,/,and *.

With one exception, the iteration interval can be quite large -- 1/10 to
1/20 of the switching period -- without impairing accuracy. This means 10
or 20 iterations per cycle which will run at a good speed. Try running the
same program with the iteration interval changed. If the results are close
to each other use the larger increment which will run faster. However,
using a long interval throughout results in insufficient accuracy in
defining the length of the "on"™ time, which must always terminate at an
interval boundary. If the duty ratio is supposed to be .31, but there are
only 10 iterations per cycle, the switch will turn off at .4, which is a
great deal of overshoot. An interval of 1/100 is more appropriate when
approaching the turn-off point, but is too slow for general use. The only
solution is to use some method of estimating proximity to turn-off and using
a fine increment when it gets close. This is probably the biggest source of
error in using this simulation method.

Unlike the buck regulator, flyback equivalent circuits are very different in
the "on" state compared to the "off" state. In writing a single program
section to cover both states, there will be several lines that apply to one
state and not the other, and several IF....THEN statements to direct program
execution to the proper lines. All this slows up program execution, and
makes writing the program more difficult. In such cases, it is better to
use two completely separate program segments, one for each state. Switching
to the proper segment is done no more than once per iteration. This will
slightly increase the total program length, but it will run faster.
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2350 ¢ Bodulater:

2360 READ  VSMIN, VSNAX, VCLANP

2370 DATA 0.8, 3.5, 2.2

2380 ¢

230 To change values, edit DATA statements above. SAVE program (optional)
2800 ' Ther RUN again.

2410

2420 ' Initial valyes

2430 T=1/F¢" Period

2440 TC=0g' Cumulative interval (time within cycle)
2450 CONT=0:' Cycle count

2460 ROUT=Y0/10:' Load resistance
2470 IF VHI=VO THEN RD=1E+10 ELSE RD=VNI*(RIP4+RIZ)/(V0O-VNI):' Divider Resistor
2480 VS=YSHAX-VSHIN:'  Ramp amplitude

2490 ¥i=.6:" Rectifier drop
2500

300G ! COMPUTATION

2010

Power Switch ON

2040 CCNT=CCNT+1:TI=T/100:TC=0:SWITCR=1:"  Switch OF, Begin new cycle
2050 YIN1=VIN:GOTO 3130

3060

2070 Power switch OFF

3080 '

3090 TI=(T-TC)/10:5¥ITCH=0:" Switch OFF
3100 VIRl=-Vb

2110

320 Pover switch and filter

3130 TC=TC+TI

3140 1L=ILH{(VINI-VOUT)*TI/L:IF IL<0 THEN IL=0

3150 I1C=IL-VOUT/ROUT

3160 VC=UC +IC+TI/C

3170 VOUT=VC+IC*ESR

3180 M3=M2:MZ=N]:MI1=VOUT:IF SGN(M2-N3)<{>SGN(M1-M2) THEN GOSUB 2180
2190 ¢

3200 'E/R Type 2

3210

3220 11=(VOUT-YNI-VCI)/RIP

3230 1FB= I1 - VNI/RD

2240 VCIL=YNI-VCE-1FB*RFL

3250 IF VCTL:VCLAMP OR VCIL<O THEN GOSUB 3330

3260 IF IFB>ISHE OR IFB<-ISRC THER GOSUB 3400

3270 VCI=VCI+(I1I-YCI/RIZ)*T1/CI

3280 VCF=VCF+IFB*T1/CF

3290 IF SWITCH=) THER IF TC>.939+T THER GOSUB 2090:G0TO 3040 ELSE GOTO 3130
3300 IF VCTL<=(VS*TC/T+VSHIN) OR IL>ILIN THEN GOSUB 2090:G0TO 2090
3310 IF VCTL-(VSATC/T+YSMINI<.2 OR IL>.9+ILIM THEN TI=T/100 ELSE TI=1/20
3320 GOTO 3130

3320

3340 Vctl clamped

2350 IF YCTL-VCLAMP THEN VCTL=VCLAMP ELSE VCIL=0

3360 1FB=(({VOUT-VCI)}#(1-RIP/(RD+RIP)}-VCF-YCTL)/(RFZ+RD*RIP/(RD+RIP))
3370 11=(VOUT-VCI+IFB#*RD}/ (RB+RIP)}

3380 RETURN

3390 1 Ifb tor great

3400 IF IFB<-ISRC THER IFB=-I1SRC ELSE IFB=ISHK

3410 1I=(VOUT-VCI+IFB#*RD)/(RD+RIP)

3420 YCTL=VOUT-I1I#RIP-YCI-IFB*RFZ-YCF

3430 RETURK

2440 END
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1000 T2$="BUCKDCl -- Buck, Continumous, Duty Cycle Control®
1010 Ti1$="SWITCHIRG POWER SUPPLY PERFORMANCE SIMULATION i

102¢ L. H. Dixon UNITRODE CORP. 1/15/95
1020 !

1040 ‘System definitions:

1090 PLEN=66:TLEN=24:" Printer, Terminal #lines/pg

1060 LFS=CHRS(13)+CHRS(10):' 1 line feed

1070 LF2$=LFS+LFS:" P

1030 FF$=CHR$(12):' Form Feed

1090 TITLS=TIS$+DATES+", "+TIMES+LFZ$4TIS+LFS

1100

1110 PRINT FR$+TITLS+LFS
1120 PRINT " 1 Display/change operating conditions

1130 PRIRT " 2 Run simulation on terminal

1140 PRINT * 3 Print operating conditions

1150 PRINT * (First make sure printer is at page top)
1160 PRIFT * 4 Run simulation with printout

1170 PRIRT

1180 PRINT" CTRL/BREAK to terminate.

1190 PRINT LF2¢

1200 PRINT * Enter 1, 2, 3, or 4 _"+CHR$(29};
1210

1220 S5=IHKEYS:IF S$="" THEN 1220 ELSE PRINT S%

1230 !

1240 IF S$="1" THEN PRIKT FF$+TITL$:LIST 2260-2400

1250 IF S$="3" THEN PRINT FF$+LF25+"RUN again":LPRINT TITLS:LLIST 2260-2380
1260 * STOP is inherent after execution of LIST statements in the above lines
1270 1F S$<>"2" AND S$<>"8" THER 1200

1280 !

2000 ! Print column headings

2010 HDRS="Cycle Time 1L 1C Yout »

2020 HDR$=HDR$+DATES+",

2030 IF S$="4" THEN LPRINT LF$+TITLS +HDR$+TINES ELSE PRINT FF$+TITLS

2040 PRINT LFS+HDRS+TINES

2050 TCHT=0:PCHT=20:' ~ Init terminal, printer lire count

2060 GOTO 2260

2070

2080 ' Display/print results

2090 PRINT:TCNT=TCNT+1:IF TCHT>=TLEN-2 THEN PRINT HDR$+TINE$:TCNT=0

2100 PRINT USING “###%";CCNT;

2110 PRINT USING "#&###, #4":TC/T;1L; IC;VOUT;

2120 IF S$<>"4" THEW RETURN

2130 LPRIRT:PCNT=PCRT+1:IF PCHT>PLEN-10 THEN LPRIRT FFS+HDRS+TINES+LFS:PCNT=0
2140 LPRINT USING "s###" ;CCHT;

2150 LPRINT USING "Hu#e 4" ;TC/T;1L; IC;VOUT;

2160 RETURN

2170 ¢

2180 Rax/min valuyes

2185 IF CCKT=1 THEN RETURN

2130 PRINT USING " bk, #"; (TC-TIV/T;

2200 PRINT USING "S###. 44" ;N2;

2210 1F S$<:"4" THEN RETURN

2220 LPRINT USING “ #M# #8"; (TC-TIV/T;

2230 LERINT USING "#### #4";M2;

2240 RETURH

2250 !

2260 !

0270 Power Circuit Parameters:

2280 READ F, vk, vo, 10, ILIN, L, ¢, ESR
2290 DATA 0.1, 18, 5, 20, 25, 11, 300, 025
2300 °

2310 ! Error Amplifier Values:

2320 READ VNI, RIP, RIL, CI, RFZ, CF, ISRC, ISKK
2330 DATA 2.0, 4304, 30000, .0013, 36000, .0015, .0001, .0002
2340
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SHITCHING 02-07-1985, oycle  ime
BUCKBCl --

760 !

2270 ¢ Power Circuit Parameters:

2780 READ F, VIK, Vo, 10, LI, L, ¢,  EsE .G
2230 DATA 0.1, 16, S, 20, 25, 11, 300, .025 K
! 4]

K31 Error Amplifier Yalues:
2 READ  VMI, RIP, RIL, CI, RFZ, CF, IZRC, ISKK
DPATA 2.0, 4904, 320000, .0019, 300G, 0015, 0001, 0002

rRrel

-3 €N ~3 &

EOS R SN, A VT I R R R B O |

; ! Modulator: 97
2260 REAL SMIN, VSMAX, VCLAMP L5
2370 DATA  0.B, 3.5, 2.2 97
2280 ]
.00 18,33 1.5 97
SHITCHING POWER SUPPLY PERFORMAKCE SIMULATION 02-07-1925, RouT 25— /.0a

4.3 21,49 18,46 3.44
BUCKEDC1 -~ Buck, Continuous, Duty Cycle Contrel 5.£5
Cycle Time IL 1o Yout (2-07-1983, D68
5,80
1 7.52  £.62 0,23 5.81
1 7.14 5.92 0,21 5.77
2 14,45 12.01 0,63 5.77
2 13,92 10,26 0.78 5,560
3 21,04 16,42 1.16 5.5
3 20,33 14.82 1.37 .37

4 510 18.46 1.67 b
4 2,72 1897 1.97 9,21
5 25.12 1895 .03 5,23
S 22.84  13.54 2.41 5.08
3 25.06  14.% 2.53 5.10
[ 22.62 11,50 .80 ~4 .93 4,34
7 2501 13,31 2.92 K ~1.42 4,95
7 2.15 0.2 ~4, 51 4,24
g 3.29 1.4 -.81 4,91
g 3.86 1.0 i -%.73 4,72
3 2.5 37 3% 4.9 2,13 4.96
9 2 3.73 37 1.06 1.9 -2,79 4.76
10 25,08 9.65  3.86 ®/ 0.7 5.75 .91 4,04
10 22,04 620 2,97 e 1.06 2 =2.10 4,75
1 25.09 8.70 4,10 KR 1.49 4,24
i1 21,92 5. 4,18 K 1.00 -1.59 4.75
2 ;08 7.97 4,31 4 0.3 1.80 4.24
12 21,89 4,45 4.36 40 1.00 -3 4.77
13 25,09 7.11 4,49 1] 0,34 2.00 4.5
13 21.20 L0 4,53 41 1.00 0 -1,19 4,73
14 25,02 £.44 4,65 42 0.3 5 209 §.27
14 21,72 3.04 4,67 4z 1.00 64 -1.17 ]
15 24,79 5,69 473 43 0.33 £.39 2.11 4,29
15 21.27 .73 4,78 4z 1.00 3.67 -lig 4.51
16 24,21 4,72 4.33 44 0,33 7.01 .11 4,90
16 20,63 1.19 4,85 44 1.00 3,62 -l.1& 4,33
17 23.56 3,79 4,95 45 0,33 7.02 2.11 4,92
17 19,93  0.34 4.9 43 368 -1.17 4.24
1% 22,00 2,05 4,99 45 7.0 2. 4,92
18 1946  -0,21 4,93 45 366 -1, 4.85
7 7,00 2 4,54
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[
[nd

yele  Time IL IC Vout Cyzle  Time 1 Vout Cycle Time IL JEW Vout

a7 164 -1.24 4.7 7% 0.5 7.9 -5.38  4.08 4 100 18.82 -1.60  5.09
ag £.97 202 4.9 7€ LO0 595 973 2% 105 0.25 22.43 173 5.8
4g 3,60 -1.25 4.8 770052 931 -6.12 4.8 105 1.0 1851 -1.67  5.08
34 £.93 L9 4% 7 L00 740 -7.51 371 106 0,26 22,27 1.65 5.17
43 35 -1.33 4.9 78 0.5z 1084 -2.97 3,70 106 100 1841 -1.32 5,07
50 6.9 1,92 4,97 7 L0 899 -5.42 359 107 0.2 22,17 1.8  5.16
S0 350 -1.33 4,99 79 0,52 12,49 -1.98  3.62 107 1.00 18.32 -L.99 5.08
51 8.8 L8 4.98 79 100 1066 -3.51  3.53 103 0,26 22.07 1.54 5.15
51 345 -1.45 4.9 80 0.5 1&g 016 3,39 W08 L.00 1823 -2.02  5.05
2 £73 130 4.98 2 L.00 12,37 -1.78 3.5 08 026 21,99 L.SI  5.14
52 340 -LS1 4.9 gl 0.5z 15.82 L4426l 199 .00 186 -2.05 5.08
g3 6.22  Lg4 4.3 8 100 1405 -0.27  3.58 10 0,26 212 .49 5.13
52 343 -l 450 g2 0,52 17.54 2.8% 3.8 110 1.00 13.10 -2.06 5.03
= £.80 182 43 & LO0 1567 L0l 366 )11 gl 21,87 142 5.1
54 342 -850 4,91 93 052 19.12 398 78 11 1.00 18,05 -2.06 5'01
b £.84 184 4,99 3 L00 17.20 207 3.78 112 027 21.% 155  5.10
55 3,50 -1.43 4,91 84 0.5z 0.59 493 1% 2 1,00 1820 -1.8%9 5.01
5, .81 LE2 500 8% 100 1861 2% 393 113 gl 21,97 1.65  5.10
55 242 -L51  4.32 35 0.52 2193 S.64 4,07 113 1.00 18.16 -1.90 5.00
Tt VIN 16—>uV 8 100 19.88 352 403 13y 026 21,94 164 5.09
57 (.34 .04 1.8 S.00 e 0,52 3.1z 615 4.8 114 1.00 18.13 -1.90 5-00
7 L0 349 -L4g AW 8 100 2100 393 427 15 g% 21,91 l.64  5.09
55 0.1 575 078 4.9 87 0.5 2014 6.47 4.2 115  1.00 1811 -1.88 4.9
S5 100 278 212 4.89 87 L00 2035 A6 445 5 g oTes 165 508
S3 0.47  5.38 0.44  4.94 22 0.52 25.01 6.6l 460 116 1.00 18.09 -1.89 498
9 LO0 273 -4 4.3 88 1.00 273 422 4.63 17 0.2 21.87  1.65  5.07
B0 050 S.51 0.60 4,97 89 040 25,02 6.07 4,78 07 100 18.08 -L87 498
£) L0020z -1.e4 4,84 29 L.00 2211 3.07 476 N2 0.27 2200 174 5.07
£ 051 5.8 0,95 4.9 0 0.39 2421 489 4.8 1B L.00 18.96 -1.70 4.8
Bl 100 242 -143 424 %0 100 2128 LE8  A85 g o' o0 e 507
b _ q P - e . » A Je

62 0.49 5,19 1.2 4,91 i3 0.3 22,45 3.74 4,53 119 1.00  18.25% -~1.71 4,98
£2 L0 36l -5 4.84 8 L00 20.35 077 &S0 5 g i 1 507
83 048 622 LY 491 2 0.4l 2265 276 A9z oo lalop <171 498
£2 0 1.00 263 -1.17  4.85 2 100 1967 -0.07 4,93 121 0.2 202  1.82  5.07
64 048 636 L4 A% 93 043 203 205 500 5 'he j5a 77 2leg
£ 100 76 -L10 4.5 % 100 15,14 -0.65 4.94 122 0.26 2.01  1.82  5.07
5 0.47 637 145 492 9 045 2.6l L&D 5.00 .o ' ’
£ L0 T2 -l14 4.6 # L0 1882 0.9 4.94

g 042 639 148 A9 33 047 l.40 L3 5.0

B8 100 279 -1.09  4.87 95 L00 1871 -LII 4,95

7 087 6.40 1,46 4,9 % 048 2134 L3 5.01

£7 0 L00 374 -L1§ 4.7 ¥ 100 1870 -L13 4,35

& 042 6.40 1.4 4,94 97 048 21,33 1.8 501

£ L0 220 -l1.09 4.8 7 L00 1868 -L15  4.95

59 0.42 645 L5 495 ¥ 048 23l L% 5.0

£9 100 224 -1.05 489 gg é-og 18,67 -1.17  4.95

76 0.47 . 6.44 1,43 4.9% g A8 0 2130 L2 5,02

70 LO0 378 -2 489 INT VIN li-d21¢

7 0.47 6.38 1.42 4.9 99 1.00 18,66 -1.19 4.95

71 .00 371 -1.19 4.89 100 0,32 22,45 317 5.08

77 6.42 .36 1.49 4,9 100 1.00 20,01 -0,12 5.02

72 1.00 .74 -1.16 4.5 101 0.26 22,77 3.29 5.13

3 0.43 £.39 1.42 4.97 101 1.00 19,884 -0.36 5.07

7 1,00 3.77  -1.14 4,90 102 0,25 23.5% 2.92 3.16

74 0.47 £.37 1.40 4,97 102 1.00 19.64 -(.7% 5.09

INT. ROUT 1.0~>,255 103 0,24 23,10 2.40 5.18

78 L00 3.73 -l4.41 45 103 100 1913 -L29 5.09

75 0,52  6€.83 -10.70 4.38 04 0,25 2274 2,02 5.18

5 LD 470 -12.04 4.1
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